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AECDOJA
£x=80"+60"=140°

AABCol|A
2BAC+40°+68°=180°
s £ZBAC=72°

LBADZ%LBACZ%X 72°=36°

wela] A ABDOJA]
2x=36"+40"=76°

A ABCeA]
ZBAC+45°+95°=180°
S ZBAC=40"

s ZDAC=-5ZBAC=1 % 40°=20°

w2k A ADCOYA
£x=20"+95"=115"
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4-2 (1)108° (2)60°

5-1 55" €\ 360°,360°, 55°
5-2 (1)40° (2)100°
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£Lx+595°=720" S ZLx=125°

20 A=A Hlo|x! $5¢ 1-2

() 22190 Wzte] A7) e
180° % (5—2)=540"
150°4+90°+100°+ Lx+95°=540"0]| 22
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+90°+(Lx—15") =

420°— £x=2360° S Lxr=60°
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-
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Sox=36
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@ +£COD=«DOE¢|2& CD=DE
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@ CE=2ABol=& ,COE=2,A0B
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p.122~p.125

1-1 5,9,7(1)3,4,24 (25,7,154 (3)24, 154, 202

1-2 8 i AN 6 cm
8em.. (6cm.

. 10 em-
10 cm

M 24 cm”® @240 cm”® 3 288 cm”

@

4em

e -6 em-i4em] 6 om
5cm

®24cm” @100 cm® @ 148 cm®
2-1 55 (15,257 (25,1007 (3 257, 1007, 1507

2-2 (2 ‘c%

C@axDem |

5?cm

()47 cm® (2207 cm® (3) 287 cm’
3-1 (1367 cm® (21207 cm”® (3) 1927 cm’
3-2 (11167 cm® (2487 cm® (3) 807 cm®
4-1 V®27cm® @7cm @189 cm®
2®34cm® @6cm @204 cm’
4-2 V®6cm’ @3cm @18 cm®
2®18cm® @8cm @ 144 cm’
5-1 WD 167 cm® @9 cm @ 1447x cm®
@ ®4rcm® @6 cm @ 247 cm’
5-2 ) ®257r cm”® @4 cm @ 1007 cm’®
@®97r cm® @8 cm @727 cm’

-

~

1-2 1) @ %xs><6:24 (cm?)

@ (8+10+6)x10=24%10
=240 (cm®)
(3) 24 X 2+240=48+240
=288 (cm?)



2 @ 6x4=24 (cm?)
@ (44+6+4+6)x5=20%5
=100 (cm?®)
(3) 24 x2+100=48+100
=148 (cm®)

2-2 (1) 7x2*=4x (cm®)
(2) (27%x2)x5=207 (cm®)
(3) 4 X 24207 =87 +207

=287 (cm®)

3-1 (1) 7x6°=367 (cm”)
(2) (27 x6)x10=1207 (cm®)
(3) 367 X 241207r=727+1207
=1927 (cm?)

3-2 (1) 7x4*=167 (cm?)
(2) (27 x4)x6=4871 (cm?)
(3) 167 X 24+487 =327 +487

=80x (cm®)

4-1 1) @ %x6x9:27 (cm?®)

® 27x7=189 (cm®)

@ @ %x(5+12) ><4:%>< 17 x4

=34 (cm®)
(3 34x6=204 (cm®)

4-2 (1) @ Sx3x4=6 (cm’)
3 6x3=18 (cm®)

(@) @ $x(3+6) x4=1x9x4

Do)

8 (cm?)

—_ =

(3 18x8=144 (cm’

5-1 (1) @ 7 x4*=167 (cm®)
® 167 X 9=144r (cm®)
2 @O 7x2°=47 (cm?)
® 4rx6=24r (cm®)

B-2 (1) @ 7 x5°=25x (cm®)
3 257 x4=1007 (cm®)
2 @ 7x3*=97 (cm?)
® 971 x8=727 (cm®)

HeE H= 0.126~p.127 |

1 1) @24 cm”® @288 cm” 3 336 cm”
2 @® 40 cm® @196 cm” 3276 cm”
B D 257 cm® @ 1207 cm® @) 1707 cm®
2 ()M24cm® @5cm @120 cm’®
@@®20cm® @6 cm @120 cm®
R ®M30cm® @6cm 3180 cm’®
@®9rcm® @6cm @547 cm’
6 D167 cm® @12 cm 31927 cm®
3 1HM28cm” @288 cm” @344 cm” @ 336 cm’
2 @26 cm® @154 cm® 3206 cm® @ 182 cm’®
B3) M 48 cm® @ 150 cm® @ 246 cm® @ 240 cm’
4 (1) 20| : 52 cm’® 81| : 24 cm’
) 20| : 920 cm® 20J : 1200 cm®

(3) Z2'H0| : 487 cm’®, 21 : 457 cm®

1T 1O %x8><6:24 (cm?®)

@ (8410+6)x12=24x12
=288 (cm”)
(3) 24 x2+288=48+288
=336 (cm®)
2 @O 4x10=40 (cm®)
@ (4+10+4+10)X7=28%7
=196 (cm?)
3 40X 2+196=80+196
=276 (cm?)
(3) @ 7x5=257 (cm®)
@ (27%5)%x12=1207 (cm?)
3 257 % 2+1201=507+ 1207
=1707 (cm?)

2 1)@ 4x6=24 (cm?)
® 24x5=120 (cm®)
2 @ %X5X8:20 (cm?)
3 20x6=120 (cm®)
3) @ %x5><12:30 (em?)
3 30x6=180 (cm®)
4 @ 7x3’=97 (cm®)
® 97 x6=>547 (cm®)

(5) @ nx4’=16x (cm®)
(3 167 x12=1927 (cm®)

3 1)d %x(4+10) ><4:%>< 14 4

=28 (cm”)
@ (5+10+5+4)x12=24%x12
=288 (cm®)

entaiy 3]



(3 28 x2+288=56-+288
=344 (cm®)
@ 28%x12=336 (cm”®)

@ @ %X(S—FS) ><4:%>< 134

=26 (cm®)
@ (44+8+5+5)x7=22x7
=154 (cm®)
(3 26X 2+154=52+154
=206 (cm®)
@ 26x7=182 (cm®)

3 @ %x(3+9) xs:%x 12%8

=48 (cm?)
@ (34104+9+8)x5=30x%x5
=150 (cm”)
3 48x2+150=96-+150
=246 (cm?)
@ 48 x5=240 (cm®)

Ed
(Fyol)=(3+2+3+2) x4
=10x4=40 (cm?)
s (Ayle))=6x2+40
=12+40=52 (cm®)
(Fa))=6x4=24 (cm®)

) (‘?;“sﬂﬂ)z%x 15x8=60 (cm?)

(Fylo)=(17+15+8) x 20
=40%20=800 (cm”)
- (Aylo)) =60 % 2+800
=120+800=920 (cm®)
(33]) =60 x 20=1200 (cm’)
(3) (BRo))=rx3"=97 (cm’)
(Qylo])=(27x3) x5=30x (cm®)
s (BYlo)) =97 x2+30r
=187 +307r=487 (cm?)
(53]) =97 x 5=457 (cm”)

p.128-p.129 |

e 2E

01 ® 02 1047 cm® 03 100 cm® 04 72 cm®
05 120 cm® 06 5887 cm® 07 2 cm 08 3cm
09 277 cm® 10 l4rcm® 11 1267 cm® 12 4007 cm®

01 (Bylo)=rx6"=367 (cm®)
(FHo))=(27%x6) x 15=1807 (cm®)
S (BRo)) =361 x 241807
=727+1807r =252 (cm®)

32 A=A volxl 43¢ 1-2

02

03

04

05

06

07

08

09

10

1

12

(Dylo))=rx4’=167 (cm®)
(FHlo)=(2rx4)x9=72r (cm®)
S (AYo)) =167 x 2+ 727

=327 +727=1047 (cm?)

(1,3515}0]):%><5><2+%><5><3

s 15 _ 25 2
=5+ 5 =5 (cm”®)

o (R3] =22 x8=100 (cm’)

(uEhigo]):%XS x3=12 (cm?)

So(Fa)=12x6=72 (cm®)

(Ayo])=4x5=20 (cm”)
S () =20%6=120 (cm®)

(Bylo))=7x X 7°=497 (cm®)
oo (F9)) =497 x 12=5887 (cm®)

(Y715 Ao Bal)= (7 x2°) x8=327 (cm’)
ojuff Y1715 B2} &°]E & cmz} shH

(mx4%) X h=32r7

167mh=327 Soh=2

uebA] 971 B2} 0] 2 cmoltt,

2}7)%59] &015 /i cme} 5hd
(24 0]):%>< 4x7=14 (cm’)o]|E&

14 X h=42 Soh=3
wetA] Z17)5] 2ol 3 emolt),

(m o]):%x X 32:%71 (cm®)

s () :%n X 6=277 (cm”)

(tggon:%x X 2°=27 (cm’)

S (B =27 x 7=147 (cm®)

(2 971%59] F39))= (7 x5%) x 6=1507 (cm”’)

(ZH2 971%59] Hu))= (7 x 2°) x 6=247 (cm”)

S (o] £ 97)%F 0] Rul) = 1507 — 247
=1267 (cm®)

(2 Y7152 Hu))= (7 x 7°) X 10=4907 (cm”)

(2 715:0) 53] = (7 x 3) X 10=907 (cm”)

S (FEo) FE Y71E ] H3) =4907 — 907
=4007 (cm”)



\] 8 o =ozu0

p.130~p.133

EX) 1 2on
)

1-1 56,6 (136 (24,60 (336, 60,96
1-2

3c1f1

M9cm® (230 cm® 339 cm®
2-110,4,4 (4,167 (210, 4,407 3 167, 407, 567

2-2 6em..
(Zﬂv

(197 cm® (2187 cm® (3) 277 cm”
3-1 19 @36 (3)3,5,90 4)9,36,90,135
3-2 M4 cm® @25cm® 3)56 cm® @) 85 cm”
4-12,6,6,4 12 47 24,167 (312,4,6,2, 367
@) 47, 167,367, 567
4-2 3em .o

~8cm

“8em

M 97 cm® (2 367 cm® (3) 727 cm® (4) 1177 cm”

-

~

1-2 (1) 3x3=9 (cm?)
1 o 2
(2) (§><3><5> x4=30 (cm’)

(3) 9+30=39 (cm”)

2-2 (1) 7x3*=97 (cm®)
@) %x6>< (27%x3)=187 (cm?)

(3) 97 +187=27x (cm?)

3-2 (1) 2x2=4 (cm”)
(2) 5%x5=25 (cm®)

(3) {%x (2+5) x4] x4=56 (cm®)

(4) 4+25+56=85 (cm”®)

4-2 (1) 7x3=97 (cm®)
(2) 7X6°=367 (cm?)

3) %XIGX(ZEXG)—%X8X(271’X3)

=961 —247="7271 (cm?)
(4) 97 +367+727r=1177 (cm®)

N ERE pI34 |

1 (1M ®64cm’® @160 cm® @ 224 cm”
)@ 100 cm® @ 260 cm® @ 360 cm”
@257 cm® @557 cm” @ 807 cm’
@ @497 cm® @ 847 cm” 31337 cm’
B @40 cm® @ 96 cm® @ 136 cm”®
6 @ 407 cm” @ 487 cm” 3 887 cm”

1 1) @ 8x8=64 (cm”)

) <%x8x 10) x 4=160 (cm?)

3 64+160=224 (cm?)
2) @ 10x10=100 (cm?)

) %x 10 X 13) X 4=260 (cm?)

(3 100+260=360 (cm®)
(3) @ 7x5°=257 (cm®)

® %x 11 (27 %5) =557 (cm?)

(3 25m+557r=807 (cm?)
4) @O 7x7°"=497 (cm®)

®) %x 12X (27 x7)=84xr (cm®)

3 497+847=1337 (cm?)
(5) M 2X2+6x6=40 (cm?)

o) [%x (2+6) ><6} x4=96 (cm”)

3 40+96=136 (cm?)
) @ 7x2°+7%x6"=407 (cm®)

®) %x9><(27r><6)—%><3><(27r><2)

=b4r—61
=487 (cm?)
3 407 +487=887 (cm?)

emste 33



e 2t p.135-p.136 |

01 144cm® 02 105cm® 08 967 cm® 04 337 cm’
05 80cm® 06 205cm’® 07 71rcm® 08 3507 cm®

01 (¥ye))=6x6=36 (cm’)
(Fyo))= ( ><6><9>><4:108(cm2)

. (BYo])=36+108=144 (cm”)

02 (Zgol)=5x5=25(cm’)
(dgo])= <%x5x8>x4:80(cm2)
" (B4¥0])=25+80=105 (cm®)

03 (EWol)=rx6"=36r (cm’)
(glﬂo]):%xmx(znxG):GOn(cmz)
* (Aylo))=367+601=967 (cm?)

04 (Eyol)=

7x3=971 (cm?)

=3
(%%%SO]):?X 8% (27 % 3)=24x (cm?)
~ (BYlo))=9r+247r=337 (cm?)

05 (Wyo])=2x2+4x4
=4+16=20 (cm”)

(@ae)=[+

=60 (cm?)
s (BYo))=20+60=80 (cm?)

X (24+4) % ] 4

06 (dgo))=3x3+8x8
=9+64=73 (cm”)
(@ae)=[%
=132 (cm®)
(Aol =734132=205 (cm”’)

E

X (348) % ] 4

07 (Qylo))=xx2°+7x x5
=47+257=297 (cm®)

(Ao = ><10><(27r><5)—%><4><(27r><2)
=507 —8r=427 (cm?)
~(Ayo))=29r+42r="717 (cm®)

08 (YWo])=nx54+7rx10’
=257+1007r=1257 (cm?)

(@4o]) =2 x30x (27X 10) —=-X 15X (27X 5)
=3007r —757r=2257 (cm?)
2 (Bglo))=1257+2257r=3507 (cm?)

34 A=A volxl 4512

\qusmm

p.137~p.138

EX 1 2on
)

1-1 WD 16cm® @6cm @32 cm’
@®36r cm’” @10 cm @ 1207 cm®
1-2 W®28cm® @9cm @84 cm’
@ @647 cm® @15cm @ 3207 cm’
2-1 (110,10, 12,400 (2)5,5,6,50 (3)400, 50, 350

8 8 208
2-2 (1)6,6,727 (2 )2,2,§7r (3) 727, ST

-

~

1-1 (1) @ 4x4=16 (cm?)
© %x 16 x6=32 (cm’)
2) @ 7x6°=36r (cm?)
©) %x 367 X 10=1207 (cm®)

1-2 1) @ %m x 8=28 (cm?)

©) %x 28 % 9=84 (cm®)
2) D 7x8 =647 (cm?)

©) %x 64 x 15=3207 (cm®)

HE H=

1 (1)@100 cm’ @9cm @300 cm’
2®21cm® @10cm @70 cm’
2 (1336 cm® (2 112cm® 3)3: 1
3 1)®257cm® @12 cm @ 1007 cm’
)

@@®36rcm’ @11 cm 3 1327 cm®
4 (1) 1447 cm® 2487 cm® 3311
5 (1) D256 cm’ @32cm’ @224 cm’
@ @432 cm® @16 cm® @ 416 cm’

©J0) —138 rcm’ @ %ﬁ cm’ @ _1;)2 7 cm’

@) ® 1207 cm® @ 157 cm® 3 1057 cm”®

1 1) @ 10x10=100 (cm?)

© %x 100 X 9=300 (cm®)

2 @ %x6x7:21 (cm?)

© %x 21x10=70 (cm®)

2 (1) (BHo))=6x7=42 (cm®)

" (F1))=42x8=336 (cm®)

p.139~p.140 |



(2) (BRo])=6x7=42 (cm’)
(—‘i"—ﬂ)z%x 42x8=112 (cm”)

(3) (Z7150) 53)) © (Z180] 23)) =336 : 112
=3:1

3 1)@ 7x5=257 (cm?)
© %x25n>< 12=1007 (cm®)
2 @ 7x6°=36x (cm®)

©) %x 367 x 11=1327 (cm®)

L (1) (Rglo)=rx4’=167 (cm?)
S (F0) =167 X 9=1447 (cm®)
2) (Aglo))=rx4’=167 (cm®)
f () =1 x 167 x 9=487 (cm’)
(3) (Y7154 Fu)) © (PEL] Fu])=144r7 : 487
=3:1

5 1)@ %x (8x8) x12=256 (cm”)

©) %x (4x4)x6=32 (cm®)

3 256—32=224 (cm®)

@ @ %x (12x12) X 9=432 (cm?)

) 1y (4x4)%x3=16 (cm®)

3
(3 432—16=416 (cm®)

3) @ %x (7% 4%) ><8:—1§87r (cm®)
®) %x(anz)x4:1—§n (em?)

128 16 __ 112 3
©) 3 T 5T 37r(cm)

4 @ %x (rx6%) x10=1207 (cm®)

®) %x (rx3%) x5=157 (cm®)

3 120m—157=1057 (cm®)

M era p141-p142 )

01 967 cm® 02 87 cm’
05 104 cm® 06 1127 cm® 07 12 cm
09 (1)sHA X ) 217 cm® 10 787 cm®

03 594 cm’® 04 2007 cm’®
08 6 cm

01 (BHo))=rx6=367 (cm®)

o () :% X 36 X 8=96 (cms)

02

03

04

05

06

07

08

09

(Wylo))=xx 2°=4x (cm?)

o (R =5 X 47 X 6=87 (cm’)

(A}zhzo) ;Lxﬂ):%x (9%9) X 4=108 (cm’)
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